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FINAL MARKING SCHEME 

PAPER 1 

OBJECTIVE TEST 

[40 MARKS] 
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EDUCATION-NEWS CONSULT  
DEC. 2O23 BECE HOME MOCK 2 
 

(2024 BECE) 
MATHEMATICS 1 & 2 

 



PAPER 1 

[60 MARKS] 

QUESTION ONE 

a. Arko’s earnings = 3× (Adom’s earnings)        1 Mark 

𝐴 = 3 × 2,500            M1 

= GH¢ 7,500            A1 

Total income after five years = (sum of their income × 12 months) ×5     1 MARK 

2,500 + 7,500            M1 

10,000 × 12            M1 

120,000 × 5            M1 

600,000             A1 

In five years, both of them will earn GH¢ 600,000.       1 MARK 

b.  √
16

100
 = 

4

10
            M1 

4

10
            M1 

2

5
            A1 

c. 105o  + 𝑥 = 180         M1 

𝑥 = 180 − 105           M1 

𝑥 = 45𝑜           A1 

QUESTION TWO 

a. i.            5 MARKS 

  

 

 

 

 

ii.             

 

 

 

            5 MARKS 

 

b. 23,000 × 0.00013   



(23.0 x 103) × (13.0 × 10−5)         M1 

(23 × 13) × (103+(−5)          M1 

299 × 10−2           M1 

2.99 × 101           M1 

= 2.99           A1 

QUESTION THREE  

a.i  11 + (3𝑥 – 3) + 3 + 5 + 3𝑥 = 46        M1 

11 – 3 + 6 + 3 + 5 + 3𝑥 = 46         M1 

22 + 6𝑥 = 46           M1 

6𝑥 = 46 – 22         M1 

   

6𝑥

6
=

24

6
             

𝑥 = 4           A1 

ii. Area = L ×  𝐵. 
L = 6 + 5           M1 

L=11           A½  

B = 3(4) – 3           M1 

12 – 3             

= 9           A ½  

 

 

 

 

a = 11 ×  9          M1 

99𝑐𝑚2           A1 

 

a = 𝐿 ×  𝐵 

a = 3 × 5           M1 

15𝑐𝑚2           A1 

 

a = 15 + 99          M1 

114𝑐𝑚2           A1 

QUESTION FOUR 

a. Area of a circle = 𝜋𝑟2 

A = 𝜋𝑟2           M1 

A =154           M1 

𝜋 = 
22

7
           M1 

154 = 
22

7
 × 𝑟2          M1 

7 × 154

22
 = 

22 𝑟2

22
          M1 

𝑟2 = 7 × 7          M1 

√𝑟2 = √7 × 7          M1 

𝑟 = 7           A1 

 

d = 2𝑟           M1 

M1 

M1 

M1 

M1 

M1 



d = 2(7)           M1 

d = 14𝑐𝑚          A1 

 

 

b. a = 
1

2
  𝑏ℎ 

a =
1

2
 (6) (6)          M1 

1 × 3 × 6           M1 

18𝑐𝑚2           A1 

QUESTION FIVE 

a. Ebo’s weight = 28.6kg 

His father weight = 4 (Ebo’s weight)      M1 

Father’s weight = 4 (28.6)        M1 

Father’s weight = 114.4kg        A1 

Total weight =28.6kg + 114.4kg       M1 

= 142.8kg          A1 

 

b. 
3

5
𝑜𝑓 2500          M1 

3

5
× 2500          M1 

1500 

∴ 𝐺𝐻𝐶1500 𝑖𝑠 𝑙𝑒𝑓𝑡         A1 

 

c. i. 5: 15 = 12: 𝑀 
4

15
=

12

𝑀
          M1 

4 × 𝑀 = 15 × 12 (𝑐𝑟𝑜𝑠𝑠 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑦)      M1 
4𝑀

4
=

180

4
          M1 

𝑀 = 45          A1 

 

ii. 4: 15 = 20: 𝑁 
4

15
=

20

𝑁
 

4 × 𝑁 = 20 × 15         M1 
4𝑁

4
=

300

4
          M1 

N=75          A1 

 

QUESTION SIX 

a.   Commission = 25% 

Total sales = GH¢ 2,000 

Monthly salary = GH¢ 1,200 

Commission = 25   of 2,000       M1 

C = 
25

100
 × 2,000         M1 

25 x 20          M1 

Commission = 500        A1 

Total earning = 1,200 + 500       M1 

1,7000 

GH¢ 1,7000         A1 

 

b. i. 5 mathematical sets 

1 = GH¢ 5.00 

5 = 5 × 5         M1 

GH¢ 25          A1 

 



ii. 6 pens 

1 = GH¢ 1.00 

6 = 6 × 1         M1 

GH¢ 6.00         A1 

 

iii. 10 rules  

1 = GH¢ 1.20 

10 = 10 × 1.20         M1 

GH¢ 12          A1 

 

iv.  1 graph book = GH¢ 2.50       A1 

 

v.  total = 25 + 6 + 12 + 2.50       M1 

GH¢ 45.5  

Amount required = GH¢ 45.5       A1 

 

 


